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QUESTION 1

Redundant spoke-SDPs are used between 2 Metro networks for redundancy. How can load balancing be achieved
across the redundant spoke-SDPs?

A. A single management VPLS using RSTP can be used to block different SDPs for different VPLS services.

B. A single management VPLS using 802.1D-2004 can be used to block different SDPs for different VPLS services
C. There is no way to have load balancing across redundant spoke-SDPs.

D. Two management VPLS using RSTP can be used to block different SDPs for different VPLS services.

Correct Answer: D

QUESTION 2

What are the advantages of running a physical ring topology with a mesh of mesh-SDPs? (Choose 2)
A. STP can be used to break the loop.

B. STP is not required to break the loop because of split-horizon rules.

C. If the traffic is primarily multicast, a full mesh of SDPs is a simple and efficient design.

D. If the traffic is primarily Unicast, a full mesh of SDPs is a simple and efficient design.

Correct Answer: BD

QUESTION 3

An |I-VPLS is configured with a service id of 511. What will the value of the I-SID be assuming a default configuration?
A. The 1-SID must be explicitly configured.

B. The 1-SID only supports a range from 1 to 255.

C. The 1-SID will default to 511 .the value of the service-id.

D. Thel"SIDwilldefaultto131582, the value of the service-id + 131071.

Correct Answer: C

QUESTION 4

Click on the exhibit below.

4A0-105 PDF Dumps | 4A0-105 Practice Test | 4A0-105 Exam Questions 2/3


https://www.geekcert.com/4a0-105.html
https://www.geekcert.com/4a0-105.html
https://www.geekcert.com/4a0-105.html

VCE & PDF https://lwww.geekcert.com/4a0-105.html
2024 Latest geekcert 4A0-105 PDF and VCE dumps Download

GeekCert.com

CE-B

The SAP on PE-A has been configured with dotlq encapsulation. The SAP on PE-B has been configured with ging
encapsulation. CE-A sends frames with a single tag of 100. The VLAN tag from CE-A must be passed transparently. CE-
B is expecting a frame with a top tag of 200 and bottom tag of 100. Which of the following is the correct SAP id for PE-
B?

A. sap 1/1/1:200.100

B. sap 1/1/1:200*

C.sap 1/1/1:*

D. sap 1/1/1:.0*

Correct Answer: B

QUESTION 5

Port 1/1/1 has been configured as an access port with QinQ encapsulation. Which of the following three statements are
true for ingress traffic assuming default configuration? (Choose 3)

A. sap 1/1/1:*.0 is a valid sap id.

B. sap 1/1/1:100* will accept frames with a single tag of 100.

C. sap 1/1/1:200* will strip the top tag of 200 and the bottom tag will be transparently passed.
D. sap 1/1/1:0* will accept all untagged frames.

E. sap 1/1/1:0* will accept any tagged frames.

Correct Answer: BCD
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